FAX Option Type M25

G3 Interface Unit Type M25

FAX Memory Unit Type M25 64MB
FAX Connection Unit Type M25

PARTS CATALOG

This catalog gives the numbers and names of parts on this machine.

CONTENTS
1. FAX Option TYpe M25 ..o

2. G3 Interface Unit Type M25

3. FAX Memory Unit Type M25 64MB / FAX Connection Unit Type M25
4. Parts Index

May 18, 2016 V1.00



1. FAX Option Type M25

10

—



1. FAX Option Type M25

In'\(li;x Part No. Description Agstz::y In'\tli:-x Part No. Description Agst;,r::y
1 D223 5790 |BRACKET:FAX CONTROL UNIT 1 101 1105 0758 |CLAMP:LWSM-0306A 4
2 D223 8201 |FAX CONTROL UNIT:SERVICE PARTS:(NA) 1 102 1105 0723 |CLAMPS:WES-0507 1

FAX CONTROL UNIT:SERVICE
2 D223 8202 PARTS:(EU/CHN/AA/KOR) 1 103 1105 0692 |CLAMP:LES-0503 2
2 D223 8203 |FAX CONTROL UNIT:SERVICE PARTS:(TWN) 1 104 | 0454 3006Q [TAPPING SCREW - M3X6 6
3 D223 5794 |SUPPORTING PLATE:BRACKET:FCU 1 105 | 0353 0050N [SCREW-M3X5 9
4 B771 5050 |[SPEAKER 1 106 1607 2251 |FERRITE CORE:K3 NF-75(N)BKO0 1
5 D223 5791 |BRACKET:SPEAKER 1
6 D3D5 5790 |HARNESS:SPEAKER:CONNECTING 1
7 H523 5350 |[TELEPHONE CABLE (NA) 1



Ed
Sticky Note
No 2
PCIL: May 2017

Ed
Sticky Note
New parts 
RTB 44


2. G3 Interface Unit Type M25

A Y\ T\ w @MM@/@
\ NN ¥ en4
) s
B WV St ©
oY T TREE




2. G3 Interface Unit Type M25

In'\(li:.x Part No. Description A(s),sthF::y In'\cllzx Part No. Description AS:Z::V
1 D150 5634 |PCB:CCUIF-A:ASS'Y 1 101 1105 0638 [CLAMP RFC-33V0 1
2 D223 5793 |BRACKET:G3/G4 1 102 1607 2251 |FERRITE CORE:K3 NF-75(N)BKO 1
3 D545 5172 |PCB:SG3-ND:NA:ASS'Y (NA) 1 103 0454 3006Q |[TAPPING SCREW - M3X6 9
3 D545 5174 |PCB:SG3-ND:EA:ASS'Y (EU/AA/KOR/CHN) 1
3 D163 5176 |PCB:SG3-ND:TWN:ASS'Y (TWN) 1
4 D3BT 5241 |HARNESS:FCU-CCU:C2CDE 1
5 H523 5350 |TELEPHONE CABLE (NA) 1




3. FAX Memory Unit Type M25 64MB / FAX Connection Unit Type M25

FAX Memory Unit Type M25 64MB FAX Connection Unit Type M25

\

~

=\ 1\




3. FAX Memory Unit Type M25 64MB / FAX Connection Unit Type M25

Index - Q’ty Per Index - Q’ty Per
No. Part No. Description Assembly No. Part No. Description Assembly
1 D167 5740 |PCB:MBOARD:ASS'Y 1 101 0454 3006Q |TAPPING SCREW - M3X6 4
2 D3D4 5001 [SD-CARD:CONNECTION:ASS'Y 1




4. Parts Index

Part No. Description ::;iia':: Part No. Description aa:’gee;a'\;\:
0353 0050N [SCREW-M3X5 2 - 105
0454 3006Q |TAPPING SCREW - M3X6 2 - 104
0454 3006Q |TAPPING SCREW - M3X6 6 - 101

1105 0692 |CLAMP:LES-0503 2 - 103
11050723 |CLAMPS:WES-0507 2 - 102
11050758 |CLAMP:LWSM-0306A 2 - 101
1607 2251 |FERRITE CORE:K3 NF-75(N)BKO 2 - 106
B771 5050 |SPEAKER 2 - 4
D150 5634 |PCB:CCUIF-A:ASS'Y 4 - 1
D163 5176 |PCB:SG3-ND:TWN:ASS'Y (TWN) 4 - 3
D167 5740 |PCB:MBOARD:ASS'Y 6 - 1
D223 5790 |BRACKET:FAXCONTROL UNIT 2 - 1
D223 5791 |BRACKET:SPEAKER 2 - 5
D223 5793 |BRACKET:G3/G4 4 - 2
D223 5794 |SUPPORTING PLATE:BRACKET:FCU 2 - 3
D223 8201 |FAXCONTROL UNIT:SERVICE PARTS:(NA) 2 - 2
D223 8202 |FAXCONTROL UNIT:SERVICE PARTS:(EU/CHN/AA/KOR) 2 - 2
D223 8203 |FAXCONTROL UNIT:SERVICE PARTS:(TWN) 2 - 2
D3BT 5241 |HARNESS:FCU-CCU:C2CDE 4 - 4
D3D4 5001 |SD-CARD:CONNECTION:ASS'Y 6 - 2
D3D5 5790 |HARNESS:SPEAKER:CONNECTING 2 - 6
D545 5172 |PCB:SG3-ND:NA:ASS'Y (NA) 4 - 3
D545 5174 |PCB:SG3-ND:EAASS'Y (EU/AA/KOR/CHN) 4 - 3
H523 5350 |TELEPHONE CABLE (NA) 2 - 7
H523 5350 |TELEPHONE CABLE (NA) 4 - 5




	1. FAX Option Type M25
	2. G3 Interface Unit Type M25
	3. FAX Memory Unit Type M25 64MB / FAX Connection Unit Type M25
	4. Parts Index

